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4. A rectangular piece of cardboard, 100 cm by 40 cm, is going to be used to
make a rectangular box with an open top by cutting congruent squares from
the corners. Calculate the dimensions (to one decimal place) for a box with

the@volume.
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13. a. An isosceles trapezoidal drainage gutter is to be made so that the angles at A
and B in the cross-section ABCD are each 120°. If (he@'l long sheet of metal
that has to be bent to form the open-topped gutter and the width of the sheet
of metal is 60 cm, then determine the dimensions so that the cross-sectional
area will be a maximum.
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b. Calculate the maximum volume of water that can be held by this gutter.
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